SLFF-, a8 farsefife (Cadfes)

S 1 270° O3 @SN gIif*re Fo (@62

®%F OF oF ofF

21 P [T @I Jeed Sifafy e e e Te?

®)n (%) STrCre (or) ot @1
9 |
17n
? T
y
Ly O @C?
@5 3 5 @

8 | et 5 B 9fq o1 ST ¢ e FhR Tewa
(IR AfTT F©?

() 150°  (¥) 135° () 120° (9) 90°
¢ | 073y M2 grea TPg 20 W, =61, £40B = F©
cfez? ¢

5m.m.
A

(¥) 0.25 (o) 4 (9) 100

v | fear e @fee oFw

. 180\°¢
i. 1°= (—)
T

(¥) 0.5

i, 16 = (?)0
iii. 1° = (%)C
foeea s Ffow?

@isii Q) isiii (M) iiSii

A

(@) i, uisiii
41 ABC l&gte

i. 2C=50°
ii. ZA = 5?"
iii. 2B + 2C = 100°

e @I Aow?

@ isii (X)) isii (M) iiSiii @) i, iiSiii

b | i (I A 1€ G2 @ 1° | JR&W (I AT F©

GIRRICE
@3 (1= @3+ 03 (1+5) @305

180 180

)

5 | feqTs FHew @ @2

@3- (Fr)eni(Hr) @5 (51
o oafl 5w 6 (So-35)™R 2T Teq nies
D 21 C
3
A 60° B
0 | AT GIF £D = F97?
(F)90°  (¥)120° () 130° (9) 135°
5 | LA+ £B = F© @2
@ Or NE @
32 | sinf @3 A [ &9 Jf4Ce S&Fe?
@ [-11] @01 =10 @ (-11)
3 | cosec?100° — cot?100° = F9?
(F o0 (1 (N —1 (%) 2

381 2<0<m O sind == T, tand =F9?

5 12 12 12
® 5 () -= N < 3
PN 1+tan?
se | foa oafs TreeT @ —’ g7 Wi T2
1—tan?6
/00
4
25 7 7 5
)= () ¢ (N 5 (-

S| f(0) = cosf — sinf T O AT (FI VT G

f(6) = 0z?
) 7 )5 (N = () 5
39 | (G o FIH?
(F) sinx (¥) cosx () tanx (9) cotx

3 1
S | 7”<9<2n U COS@:E X, tanf = $9?

@i @Hvi o @

)



5sinf—-3cos6
35 | 3tanf = 4 A, ——————— QI N F9?

sin@+2cosO
11 1
) N -

0 | sinf + cosf = 1 2T, O @9 -

() (M) =

i. 0° ii. 30° iii. 90°
e B wfow?
@) isii (X)) isii () iiSiii D) i, ii8iii
35 1SiNA = £ @R cosB = + -
SINA = 2 RCOSDb = 73

. _ V3 V2 _V2
i. cosdA = 5 ii. sinB = 7 iii. tanAtanB = 7
fSova s Afow?

@ igii (¥) isiii () ii8iii (%) i, ii S iii

{31 (@ TR (—1, 1) HAKCS Ky 7212
(F) y =sinx (A) y=cosx () y=tanx () y = cosecx

2910 < x < 21 IRACS y = cosx 97 @TAfog w2

() Q)

Q) ()
y=cosx+1

|

AR Tfbalt y S (@1 [Mre (2w a2
() (0, 1) ) (0, 2)

¢ 0<x < 2m J_MHTS—-

(®) (1, 0) (N (2, 0)
[. sinx TN (& [—1, 1]

ii. sinx TICIT (I R

iii. secx 8 cosecx 99 AG GF2

e @G 52

@ isii (R) isii (M) iiSiii (@) i, iiSiii

QY | G3fG fagres for @it SgAre 3 : 4 : 5 | FHeW @B

T feqr?

(F)90°  (¥)120° () 45° () 30°
291 cos*f — sin*f = F9?
@)1 (%) cos26 (°) siné () 2cos?0

A | @SS Aow?
(F) SRISF (FIT 360° AT TG S AT |
(¥) faczrefifess e 0° Sesri (25 =Ce 21 =1 |
() farreIfifes (@ 360° A TC S AT 7 |
(9) TarareIfifes (il T (I A J0o AT |
35 | farprefifes @ AR 9w W TF (@2

(®) 1o =~ e (<) 7 e = 90°
() 60° = 1 TG (9) 180° = r @@
wo | tan90° &3 T F©?
@0 M1 Chx (%) et
©y | (PG TpifNfes &Frer?
@- @F OF @

2 | (IR @R ¢ f&a siffmmeem cvea-
i. 1 TSN 1 TSI ¢ I

ii. 1 TR 1° ST I8

fii. 1 TG 1 SIS ST (R
f05a MG A5w?

@ isii (A) isii

(N isii () i, iiSii

0O | Sinx A3 A 8 FH(TE T 67

08 | AABC &3 T THPAIZS T (10?2
2,22 2, .2_,2
(F) cosA = 22 (%) cosB =22
2bc 2bc
a%+c2%-p? b%+4c2%-a?
(°1) cosC = P (9) cosA = —
¢ | tan36° + tan9° + tan36°tan9° = FO?
V3 -1
@2 @1 e @

tan65°35’—tan20°35’
Y | 7 ;= 997
1+tan65°35'tan20°35




(*) V3 (1 (") 0 ) %
©q | fararfifes @ AR 9o F30?

@)1 (¥) 2% (h 3% @4
Ob | 34 THICIR facprelfifes Srysiices cFea-

i. sin34 = 3sinA — 4sin®A

ii. cos3A = 4cos?A — 3cosA

3tanA-tan3A

iii. tan3A = >
1-3tan<A
foea @It Ffow?
@isii (A) isiii (o) ii8iii (D) 1, ii8iii

©5 | sin120° OF VI F©7?

@2 @1 o @
80 | c0s2A = $9?
i. cos?A —sin?A
ii. 2cos?A—1
iii. 1+ 2sin?A
fawa @l few?
@isii (¥) isii

(N isii () i, e

85 | sinf + sin(f + 120°) + sin(f — 120°) = F9?

@2 @91 eho @

8| sinA + cosA = 12, A =F9?

(¥) 30° (%) 60° (°h 0° (9) 45°

89 | (FICIF Toefdes (@I (@?

(F) 24T (D) n+ATET () ST () @

88 | sinx 9T ATHI 277 A, sin3x GF 2T 97
(F) 61 R m

() 27 Uk

8¢ | Sin75° 93 T 4059 (FWHT ANT?

(¥) cos30° (¥) cos15°
(°1) sin0° (9) sin45°
o1 et = e
(F) 2tan26 () tan26
(°1) sin26 () cos28




